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* Please check that this question paper contains 8 printed pages + 2 Maps.

® Code number given on the right hand side of the question paper should be written on the
title page of the answer-book by the candidate.

®  Ploase check that this question paper containg 26 questions.

® Please write down the serial number of the question before attempling it,
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General Instructions :

(i)  There are 26 questions in all,

fit) Al questions are compulsory,

(iii} Marks of each question are indicated against it.

(iv) Questions number I to 10 are very short answer questions carrying 1 mark cach,
Answer fo each of these questions should not exceed 20 words.

(v)  Questions number 11 to 20 are short answer questions carrying 3 marks each,
Answer to each of these questions should not exceed 80 words.

foi) Questions number 21 to 25 are long answer guestions carrying 5 marks each. Answer
to each of these guestions should not exceed 150 words.

(vii) Question number 26 is related to identification or locating and labelling of
geographical featurcs on maps.

(viii) Outline maps of the World and India provided to you must be attached within your
answer book.

(ix) Use of templates or stencils for drawing cutline maps is allowed.
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1. Name the cities located at both the terminals of National Waterway No. 1 of India, 1

w%nﬁammﬁaﬁiﬁﬁmmﬂmﬁ%ww&n

9. Name the Indian railway zone having the highest earnings from passengers. 1
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3. Namo any two fossil fuels. 2t =1
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4, Give any two examples of ancient towns of India. 2% 1 =1
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5. Name the first million city of the world, 1
Froe ¥ wER wEa M fEE @ A ARG

6. Which type of rural settlement pattern develops along a road, railway line, river, canal,
ate, ? 1
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7. Which is the most important riverine inland waterway of Russia ? 3
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8. Which are the two types of intensive subsistence agriculture ? Zx-;-: &1
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9. Why is the number of pastoral nomadics decreasing in the world 9 Explain the main
reason for it 1
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10. Define the term ‘noise pollution’. 1

‘fy wEEer v # AR ST

11. Explain three basic differences between rural and urban settlements of India. B 1=t
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12. Compare mixed farming with dairy farming in three points. Ix1=3
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13. Study the map given below and answer the questions that follow : dxl=3

Doira of the N

Shirkin n
A;:ﬂﬂ“l ‘/
Samilllawein

— Ship Canal
exr Railways
—— Fresh Water Canal

Hm &0 i} 50 Kkm
[ L] —

& Sudr

{13.1) Name the shipping canal shown in the map.
(13.2) Name the Northernmost and Southernmost port cities of this canal.

(13.3) Which two continents have made more use of this canal ?
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Note : The following question is for the Blind Candidates only in liew of . No. 13.
Az :  [EfEn wv FE giEE TieEd F BT 5T TEW 13 8w WA

What are the three major types of inland waterways of the world ? State three factors
on which the development of inland waterways depends.
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14.

18,

17,

18,

20.

Z1.

22.

Explain any three problems of urban settlements of developing countries of the world, 3x1=3
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Which are the two types of ports based on location ? Write any two features of each type
ol port, 1+2=3
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Which is the longest transcontinental railway in the world ? Write any four
characteristics of this transcontinental railway line. 1+8=3
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Name the three approaches introduced in 19708 in human geography. State the main
feature of each approach, 1 l] +1 l =3
qmaqﬁaﬁmua%mﬁwﬁa?ﬁﬁimﬁf%mmmmmmw
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Why is lund resource in India more crucial to the livelihood of the people who depend on
agriculbure 7 Explain three reasons. dxl=3

Wﬂﬁﬁﬁﬁmﬁﬁﬂ%fﬁﬁ%ﬁﬂﬁﬁtgﬁﬁﬁimﬁ-mﬁﬁ%ﬁiﬁ
& 2 e s W s |

Why is conservation and mansgement of water resources essential in India ? Explain any
threo reasons. 3xl=4

mﬂﬁﬁmﬁmmaﬂtwﬁm%?mmmﬁw
e |

What is land degradation ? State any four reasons responsible for land degradation in
India. 1+2=3
g-ffien @ & 2 o B g-freEer § o seed R AR Ol & I

HI |

“There are many places where people are very few and few places where people are very
many in the world.” Support this statement with five suitable examples. Hx1=h
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“India’s international trade has undergone 2 sea-change in recent years.” Give five
arguments in support of this statement. Bx1=b
i % st SR ¥ o g9 w6 § uEd gRedd g @ ' zw e W g A
g e alfee |
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23, Study the data given below in the table and answer the questions that follow : 3+2=5
Religious Communities of India, 2001
2001
Religious Groups | pgpulation | % of Total
(in million)

Hindus B27-6 80-5
Muslims 138:2 13:5

-_C hristians 241 2:3
Bikhs 19:2 19
Buddhists 80 08
Jains 42 04
Others 66 06

(23,1) Which religious community occupies the second place in the total population of
Indin ? Name @ State and a Union Territory, where the people of this community
are in mpjority.

(23.2) Which is the smallest religious community in India ? Name the three states whore
this community is mainly concentrated.

ﬁﬂﬂm*ﬁaﬁﬁﬁfwmaﬁﬁmﬁ-ﬁﬁm%maﬁm:
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i TE | e F &
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T2 241 23
ISERE] 192 1-9
g 80 0:9
S 12 04
K 66 0-6

(23.1) ﬁaaﬁ%wmwﬁ@mﬁwm% ? UF T AT TH
& onfm 9T 1 AN AAST T T T A Agee ¢ |
03p) TR W GEAd S GG 9EE 9 8 ) 39 & U= & A ARy e T

TR F T S € |

64/2(3 6




Note :  The following question is for the Blind Candidates only in liew of Q. No. 23.

qie

24.

25.

26.
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Name the five religions minority groups in India. Mention any one state where eanh ul
these religions groups is mainly concentrated. .a +2 =5
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State five features each of ‘Gujarat Industrial Region' and ‘Chhotanagpur Indusbrm!
Region', 2 +‘2

e st wEw Fa *mmm*amﬁawmm
i |

What ig the importance of tourism 7 Explain with examples the four factors of tourist
altractions in the world, 14+4=6

e & w1 w2 2 fava # wdew amedm & WR S W Iemwr ofee e
A |

(26.1) In the given political outline map of the World (on page 9), four features are
shown as A, B, C and D. Identify them with the help of the map legend and write
their correct names on the lines marked on the map. An l =7

(26,2) On the given political outline map of India (on page 11) provided to you, locate
and label the following with appropriate symbols : 3x1=3

(i)  The state having the lowest growth rate of population
{ii} The northermmost international airport
(ili) The software technology park of Madhya Pradesh
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Noie : The following question is for the Blind Candidates only in lieu of . No. 26,

dle ;.  [Efatan 5vT F99 gfeEia wianaat & o 99T @ o6 & = W

(26.1) Name the major sea-port located on the eastern coast of South Afriea.
(26.2) Name the international airport of Germany.

(26.3) Name the Indian state which has the lowest growth rate of population.
(26,4) Which is the software technology park located in Madhya Pradesh ?

{26.5) Name the northernmost international airport of India. B l=h
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For question no. 26.1 w99 H. 26.1 & f@Q
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. Far question no. 26.2 T H. 262 & fem

Outline Map of India (Political)
A &1 3E1- Aefas (TsEiaeE)
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